Q:  Whatisi?
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Next, recall Euler’s formula:

el = cosh + isind

If0 =~ then,

iZ T, . . T
ez2= cos(E)Jr i sm(E)
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So, we have1=¢e

Let’s substitute that value of i for the 1 in the In(i) in equation (1):
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0.2078795763507619085469556198349787700338778416317696080751358830554198772854
821397886002778654260353405217733072350218081906197303746639869999112631786412
057317177795200674337664954224638192973743053870376005189066303304970051900555
620047586620529435183442...

My thanks to Matt Parker for this solution to this problem at
https://www.youtube.com/watch?v=9tlHQOKMHGA

For the answer to 100 digits, [ used WizCalc:

https://wizardofodds.com/games/math/calculator/



